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(a) TIBS o ) €3 d WF
2. I 2 for AR & AIBH Sfawr 3 oS 8 Best T fagnre &3 ?
(a) SIS (b) feswfefamr
(c) WeIeIHG (d) HIITSIHS
3. HoIT Ho Il &8 fH8® 59a I& 89 9z &9 At €33 <t g a3
Hol' 1 Hol 11
(e & &) (SITSTA)
A.  wifesd 1. A
B. W3loH 2. TY (3T HD)
c. oHleH 3. fags
D. YUJHe&H L. €3T
as:
A B C D
a 3 2 4 1
® 4 3 2 1
¢ 1 4 3 2
@ 2 3 4 1
4. R B 593 Is B Hiesg I Wiee (23 Tus) R AMSH Hitmr & wee
w3 fo3at &g Qafanr famr 3 2
(a) HHAT g (c) WIIGI (d) Ugrgdmr

5. I Bt S B o wigHS 5 3 5 fBa dF &d At €39 < It a9 |

I.  3SJHHA &TH e’'d" SHHA U™

II. ©EA3%-8 Hafo" ewar HJfHs Tt

1. feag3aH T fHaAT g™ HIHE IIAT

IV. ASGH @ IHl §d HIHE
(a) IV,ILIIIL, I
(¢) IILIIL I, IV
6. Jo Bitmi fod fan & 23 w3 A= fomed © 1S feafiz disr ?

(a) e SgH3T
(c) JYET&
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ference for Indus Trade

(d) Akkad

2.  Which of the following ruler of Kashmir constructed the channels for irrigation on

Jhelum river ?

(a) Lalitaditya

(¢) Avantivarman

(b)
(d)

Vinayaditya

Sankaravarman

3.  Match List I with List II and select the correct answer using the code given below the

lists :

List I

(Name of the Jina)
A. Adinath
B. Shantinath
C. Neminath
D. Parshvnath
Codes:

A B C D

(a) 3 2 4 1
(b) 4 3 2 1
() 1 4 3 2
(d 2 3 4 1

- o

List I

(Cognisance)
Snake

Conch shell

Deer

Bull

4.  Which of the following Minor rock Edict of Ashoka engraved the numerical number

both in words and figures ?

(a) Maski

Gujarra

(c)

Ahraura

(d) Panguraria

5.  Arrange the following in a chronological order and select the correct answer from the
codes given below :

I.  Tahmas Namah by Tahmas Khan

II. Dabistan-E-Mazahib by Mohsin Fani
ITII. Ibaratnamah Mirza by Mohammad Harsi

IV. Jangnamah by Qazi Nur Mohammad
(a) IV,IL I I
(¢ ILILI IV

(b)
(d)

IL, I11, TV, 1
I, IV, III, 11

6. A reconciliation of Vedanta and Shaivite beliefs was developed by which of the
following ?

(a) Appaya Dikshita

(c) Raghunanadana

June 2023
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III. WHSSHTEWET, RS fqHeSea™ evrar Ifonr famrr faar e I, gIHE &
Y3 Jeded & 7o 3T A |

IV. S23% II & wust 27 8 HisHs fouds i3 7w |

(a) fAS< I, I W3 IV (b) fAIE L, I3 IV
(¢) fAIE L, 113 111 (d) IILIIW3IV
8. feImHa usa envrar feasedt yerdt € I it &9 fagdmit Ia<idmt &t
SIZM Iremt 2
(a) GG 83 wAdGHS Targr AfSat § Iaudt 2 & Yerilt § S8 i3 fang g
THe fagr AT I |

(b) THSET, WiHJt fogast @ uragd, feazeat © ffd J9 Ayd AT |
(¢ HA & wE faudht § wile & Gu-wmdisAe <t Yot & gg it
e |
(@) GAS wHEGHS € dig-39e8 § M3l &8 B a3 |
9. Jo B weae § ISFHS JH WgHT 184 |
I yfasr wa® fid gg

II. T I3&fed ga

111 Yfggr wias-AHd ¥y

IV. A BH T &g

(a) LI III, IV (b) 11,1, III, IV
(¢) IV, IIL, L, 11 (d) IV, IL 111, 1

10. HIB-fHS gog’ T G<F At :

. ddg feg feus ufgrae © Agar < Ore3t feg @
II. HASHS S8 24T Je-H3S
III. );rEFé‘r feosAgT feg TfB3T B8 I Hiet

Iv. fifemr T yorg

J& By I3 fed AT @39 S o a9 -

(a) fAGE I3 11 (b) fHIE III W3 IV
(¢) fAIE 1,11 w3 III (@ LILIII W3 IV
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1 Which facts are triie about Vijayanagar empire ?

I.  Women were employed as wrestlers, astrologers and soothsayers.
II. The city of Vijaynagara had seven citadels.

III. Amuktamalyada, said to have been composed by Krishnadevaraya, commends
Brahmans as Provincial Governors.

IV. Devaraya II had appointed Muslims in his army.
(a) II, III and IV only (b) I, II and IV only
(c) I, II and III only (d) L II, III and IV

8.  Which of the following changes in the Iqtadari system was not introduced by Firoz
Shah Tughlaq ?

(a) He restored the system of payment of salaries to soldiers by land assignments
now called wajaf.

(b) The wajafdars, holders of such assignment, were another group of Iqtadars.

(c) The system of sub-assignment of land by muqtais to their soldiers was also
started.

(d) He rigidly enforced the non-transfer of assignments.

9.  Arrange the following events in chronological order :
I.  The First Anglo-Sikh war
II. The Second Carnatic war
III. The First Anglo-Mysore war
IV. Battle of St. Thome
(a) LIL I, IV (b) IL I III, IV
(o0 IV,IL LI (d IV, ILIILI

10. Morley-Minto reforms aimed at
I.  Increasing number of members in Legislative Council at Centre
II. Separate electorates for Muslims
III. Reserved seats in Provincial Assembly for Dalits
IV. Promotion of education
Select the correct answer from the codes given below :
(a) Tand]II only (b) IIT and IV only
(¢) I,1II and III only (d) I II III and IV
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Hol' 1 Hol 11
(SHE AT © AF®) (&3)
A, HE=Eg 1. sy gudt
B. B3 2. A IHUSOI
Cc. 3IfHBaZ 3. o WIS
D. fagg 4. HITE B AIS
J& 81 feamyt fed At €39 S o= a9 -
A B C D
@ 1 2 3 4
b 2 3 4 1
© 4 3 2 1
@ 3 1 2 4
12. I Bt fed wieg 59 993 98 A I& ?

1801 39 weg €3 ARzt waTER S famr 7 |

1851 39 wew 99 93 IBIAl T FES H, ‘I 7 A3 o Rfo fa foa
IECICI

weg § It 39 3 1876 RY Hfer AaH &% fHgrfanr famr |

‘TII 9 7o foas It A, fog fegory s Tfre wal @9 S &3 famr
fAS TIHHG © ST76 Jict 3 I fE3T M w3 S%d3 A8 d i3 famr |

Js i3 Iz R ARt €39 & J= -

(a)
(c)

L II W3 IV At I& (b) I IIW3 I AJt I&
1L, I W3 IV Adt I& (d) L II, III W3 IV Adl I&

dgfec A Uae 99 {993 7Y I& ?

L.

II.

III.

IV.

far & fe2m HHfEn, Sfemir w3 Ho'g § /I8 J96 T8 IHHd ded! AIAd ©
&% 36 Uodt Ay & fRegn st |

Afeos AT & I gdfonr mEE wAgshr § B Aons fo 2famr
e : A (e sgforest =8 79), B(@BHU@%}W%HSU@TE?T@'&HQMBC
(@Bauaa’h-rﬂﬁmazrﬁn&ﬂwm)l
uﬁwmmwmﬂééaﬁuaﬁféwa?ﬁmqqo@ua-éwmwsw
witiarg J=4r |

ford wOrg '3 I9IGH & HIT 1947 €9 Uae § @ — yA%H Sgfirest Ja »i3
fdg /iy sgfarest yast e <3 i&37 w3 fedt 39+ Harg 9 wusd 996 38t
faa |

(a)
(c)

fAge I3 11 (b) fAgIeS L W3 11
fAge 1L I3 IV (d) LILOIW3IV
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11 Match the followindg :

List 1 List IT
(Salt March Place) (Leader)
A. Malabar 1 Gopabandhu Chaudhary
B.  Orissa 2 C. Rajagopalachari
C. Tamilnadu 3. K.Kelappan
D. Bihar 4 Mahadev Lal Saraf

Choose your answer with the help of the given options :
A B C D

(a) 1 2

(b)

(c)

3
4
2
(d) 2

W R N
- W w
N

12. Which of the following statements about Awadh are correct ?
I.  The Subsidiary Alliance was imposed on Awadh in 1801.

II. “A cherry that will drop into our mouth one day” was stated by Lord Dalhousie in
1851 about Awadh.

III. Awadh was formally annexed to the British Empire in 1876.

IV. “The life was gone out of the body” was lamented for Nawab Wajid Ali Shah who
was dethroned and exiled to Calcutta on the pretext of misgovernance .

Choose the correct answer using the code given below.
(a) I, II and IV are correct (b) I, IT and III are correct
(c) II, III and IV are correct (d) I, II, ITT and IV are correct

13. What are true about the Cabinet Mission Plan ?

I. It recommended a three-tier confederation with a weak Central Govt. controlling
foreign affairs, defence and communication.

II. Provincial Assemblies while electing Constituent Assembly be grouped into
three sections : A (Hindu majority provinces), B (Muslim majority provinces of
North-West) and C (Muslim majority provinces of North-East).

III. Grouping to be compulsory at first but provinces have the right to opt out after
new constitution and elections.

IV. On this basis the Congress in March 1947 divided Punjab into two — Muslim
majority West and Hindu/Sikh majority East and asked similar application in

Bengal.
Choose the correct answer :
(a) TandIIonly (b) I, IT and III only
(¢) 1II, ITI and IV only (d) L II, III and IV
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L 14 O Fs HEAISH, WA, I w3 g9 fids fHO ool ffe-faege—

(a) UTIA3® &9 fHoTsde

(b) UfaA3s &g fmrsde
(c) II3 &g I

d) FI3 T ):Ii()dld

15. HOl I W3 HO! I © (S o3 w3 At WuHS e -

7ol 1 Hot 1I

(Ha=TD) (AE®) ,
A. HHAJ U € Ha"ga" 1. HIET I491 63 FJI
B. gHY T HIET" 2. =G
C. TJTNI T HagT 3. T8Ud T aaTd
D. HIHE HfHs W3 T AHS © Hagdr 4. S8t
as:

A B C D
(a) 2 1 3 4
® 2 3 1 4
(c) 4 3 2 1
@ 2 4 1 3

16. for3 fisfAd 99 I+ 89 I86 s &8 U3 -

I T3 I SHH 3 A e 7eIdid 1531 Ael {9 fonst Al € gl A3 7 |

II. »ARd © A3 Aftgdls w3 Ed @ fsamels Wb, fagt & wa 393 w3
IHAES &9 fers™ T yora &3, < fonst Hefid &% #Eus As |

III. &t © 836 & e I3g-wE-Ti6 FHi3Wg Jdl § RY-WS-fTAS™H © wige
& JHeH A U GRS TTEISE FHSE '3 oAt feg S S srir Ui
I96 feAd ALY 396 3 feaad a9 T |

IV. By foayeia wighr & 38t & fomsht T ad< Acg 5e8F 3 593 Hda3
w3 o T | )

Suda3 fod f9a3 I8 ATt IS ?

(a) THIE II, III W3 IV

(b) THIE I, I W3 1V

(c) fAIS I, I W3 III

(@ fAgE I, I3 IV
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14, The place where .Thelum, Beas, Ravi and Chenab join togetheilinta Indus River is -

(a) Mithankot in Pakistan
(b) Sialkot in Pakistan
(¢) Kalakot in India

(d) Srinagar in India

15. Match List I with List IT and choose the correct option :

List I List IT

(Tomb) (Place)
A.  Shamsher Khan’s Tomb 1. Shahdara Bagh, near Lahore
B. Humayun’s Tomb 2. Batala
C.  Tomb of Jahangir 3. Nakodar in Jalandhar
D. Tomb of Mohammed Momin and 4, Delhi

Haji Jamal
Codes:

A B C D

a 2 1 3 4
(b) 2 3 1 4
(o) 4 3 2 1
d 2 4 1 3

16. Read the following statements about Chishti Silsila carefully :

I. Data Ganj Baksh and Shaikh Farid Shakar Ganj were Sufi saints of Chishti
Silsila in 15t? century.

II. Saint Moinuddin of Ajmer and Nizamuddin Auliya of Delhi, who spread Islam in
central India and Rajasthan, also belonged to Chishti Silsila.

ITII. The Sultan of Delhi offered the post of Shaikh al Islam to Khwaja Qutub-ud din
Bakhtiar Kaki, but he denied to accept it owing to the restrictions laid on
political involvement by the Chishti tradition.

IV. Shaikh Nizamuddin Auliya, lived and worked arduously to make Delhi as the
nerve centre of Chishtis.

Which of the above statements are correct ?
(a) II, III and IV only

(b) I, II and IV only

(¢) I, II and III only

(d) I, III and IV only
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17— Fo P Fe e fHgS 59 W3 A WUES gt
Hol 1 HO 11
(YrA3d) (Bud)

A INEAETS 1. Jofes iy
B. Ao fis 2. wifiT jizu
C. JH fedae 3. THY A feeer
D. &dt U9 T Agg 4. I8<3 Iraan
as:
A B C D
@ 1 4 3 2
b 4 2 1 3
(c) 4 1 2 3
@1 4 2 3

18. ‘“Urrsl ared € SaF TRl @ AT HAgI I ?

(a) &g fggdsnA

() TIY AT feeer

19. 3&d & UH IS Bt i&g fdat nF €mif Agde’ fegarg Afes J 2
(a) II3 3 UTIA3S

(c) 3II3 3 WIIMGHIS

(b) WifiET Y3
(@ ifiET AaliE
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(b) III3I TS
(d) 3II3 IS

20. HO' I & HOl Il &8 s age I8 Hom Js 8y d3 fed A €39 T2 |

HO 1

(59HS U'ed AeHS)

fHar
CErEy
uIst
fadg

o 0w »

CER

(a)
(b)
(c)
(d)

»hr—lr—aoo>
LN NN
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17,  Match Tist T with [ist IT and choose the correct option.

List I List IT

(Book) (Author)
A.  Gagan Mai Thal 1.  Gurdit Singh
B. Mera Pind 2. Amrita Pritam
C. Rasidi Ticket 3. Dalip Kaur Tiwana
D. Nange Pairan da Safar 4. Balwant Gargi
Codes:

A B C D

a1 4 3 2
b)) 4 2 1 3
() 4 1 2 3
d 1 4 2 3

18. Who is popularly known as “Punjabi Natak di Nakkad Dadi” ?
(a) Norah Richards (b) Amrita Pritam
(c) Daleep Kaur Tiwana (d) Amrita Shergil

19. Lanak La Pass is located near the border between which of the following countries ?

(a) India and Pakistan (b) India and China
(¢) India and Afghanistan (d) India and Nepal
20. Match List I with List II and select the correct answer from the code given below the

lists.

List I List I1

(Thermal Power Station) (Location)
A. Sikka 1. Gujarat
B. Korba 2.  Chhattisgarh
C. Parli 3. Maharashtra
D. Ennore 4. Tamil Nadu
Codes:

A B C D

a 3 2 1 4
(b) 1 2 4 3
() 1 2 3 4
(d) 4 3 2 1
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21 FEH S A S HEE IgT J€ HOM Is 1By 93 fed Ad-Ee9g=H
Bl I Hot 11
GEIE) (FES)

A AHQ 1. HIHMr
B. =9A 2. YJ= wigder
C. HAEH 3. Ut wiws Sfis
D. faafam 4. O EEmr
as:
A B C D
@ 1 2 3 4
® 1 3 2 4
© 3 2 1 4
@ 4 3 2 1

J& Tt gamit St 7ig 3 I3 3R el i §igt & urel & Hi3TT & w3
WTR SH WEHT B9 |

1. 898

IV. 3&drfaar

(a) I&IMEA - HET - MiIg - F8la8

(b) HISI - I&IMEE - UG - SEaS

(c) =HEES - FUIIMT - 3&drfaar - HE=T

(d) =HEES - I&IMEEr - ;AT T - HS=T

I8 & 60 T UF™ W3 IS AHAET © W'd 3 T0% gH WgA'd feeAfEs a3 w3
At feg®y 9T |

. e

II. dJgde

III. JfSd1 ABT
Iv. f&aede
(a) L IL III, IV
(b) 1,1V, III, II
(¢) IV, ILILI
(d) IIL IL IV, I
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21 Match Tist T withTist IT and select the correct answer from the code given helow the

lists.

List I List IT

(Tribal Group) (Location)
A.  Semangs 1. Malaysia
B. Boros 2.  East Africa
C. Masais 3. Western Amazon Basin
D. Kirghizs 4. Central Asia
Codes :

A B C D

(a) 1 2 3 4
(b) 1 3 2 4
(¢ 3 2 1 4
(d) 4 3 2 1

22. Arrange the following largest fresh water lakes of the world in descending order of
their volume of water.

1.  Superior

II. Malawi

III. Baikal

IV. Tanganyika

(a) Tanganyika - Malawi - Superior - Baikal

(b) Malawi - Tanganyika - Superior - Baikal

(c) Baikal - Superior - Tanganyika - Malawi

(d) Baikal - Tanganyika - Superior - Malawi
23. Arrange the coal in increasing order of the stage of formation and carbon content and

choose the correct option.

I. Peat

II. Graphite

III. Coking coal

IV. Lignite

(a) LILIIIL IV

(b) L IV,IIIII

(¢ IV,ILILI

(d ILILIV,I
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24 1 S AR H I HES a8 98 gomit 36 189 33 fod ne-Ee9w=

Hol 1 HT 11
(US) (T /TTed F731H)

A S9ES 1. gIHU39

B. Uss 2. BfI3

Cc. fefowrAqg A3 3. UgHIT

D. 3U& I A3 4, JIS

a3
A B C D

@ 4 3 2 1

b 1 3 4 2

@© 2 3 1 4

@ 2 1 3 4

25. ‘Brhwicx s (A9) Jftscdsans Yade 393 AIAT ©f d ufgsaeH 3 7
e Bfamia (A) & Uad YUt ® HithH &8 Hais 1&g widy It 3 gaftmr
YT's 396 B8 J | fer grae 3103 I5 i mret fed foan § A9 & vt B

A<t foerA AFS Hiowr AT J 2
(a) JeEET SHOS Ud (b) WAfIHAS e¥Ng faagde
(c) I& TEBI FES Acgal (d) TS TSI TES Aegdr
26. J& B fog U T 993 391 aAd S8 B8 I Aer 9 ?
(a) Y3 b) VB (0 AUS (d) Afeamr
27. Hol I © Hot II &8 fH8'& Sde I8 Fomit I 88 9 {9 Adt 839 St g ad -
Hol 1 Hol 11
(It Aled33) (fearer)
A fAHSUs 1. Ay
B. H&H 2. WJEUS YySH
C. fooiar fegtar 3. WHH
D. &9 4. GFF
as:
A B C D
(a) 4 3 2 1
b 2 1 3 4
© 2 3 4 1
d 1 2 3 4
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24, Match Tist T withlList IT and choose the correct option from tlhe code given helow the

lists.
List I List IT
(Bridges) (Rivers/ Water bodies)

A.  Bogibeel 1 Brahmaputra
B. Pamban 2 Lohit
C. Vidyasagar Setu 3. Palk Strait
D. Bhupen Hazarika Setu 4 Hooghli
Codes:

A B C D
a 4 3 2 1
(b) 1 3 4 2
() 2 3 1 4
d 2 1 3 4

25. The Asiatic Lion Reintroduction Project is an initiative of the Indian Government to
provide safeguards to the Asiatic lion from extinction in the wild by means of
reintroduction. As part of this project which of the following sites is considered as
potential habitat for the lion population ?

(a) Ranthambore National Park (b) Sariska Tiger Reserve
(c) Kuno Wildlife Sanctuary (d) Dandeli Wildlife Sanctuary
26. In making the saffron spice, which one of the following parts of the plant is used ?
(a) Leaf (b) Petal (c) Sepal (d) Stigma
27. Match List I with List IT and select the correct answer from the code given below the
lists.
List I List IT
(Biosphere Reserve) (Location)
A Simlipal 1. Meghalaya
B. Manas 2. Arunachal Pradesh
C Dihang Dibang 3. Assam
D Nokrek 4. Odisha
Codes
A B C D
(a) 4 3 2 1
(b) 2 1 3 4
() 2 3 4 1
d 1 2 3 4
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L 98 FAHELUIUHS T9 J6 B &S g3 IEs At 96 ?

S e ~

I. 3fAfcd Adcd & g =Tge |

II. ARSI Weas S8 SF @ 78 H'IIT w3 3Ty T Ade3H 233 JJ&" |
1. f69t3 e Ieeg3t 83d' (€9 SEZ fedfi3 g9 |

IV. @Ug Qe S8 5 semff Seddrd’ feafis aaasmit |

(a) fASe IW3 1Iv (b) fAge L, w3 IV

(¢) RIS L IIIW3 IV (d) LILIIW3 IV

29. UETE dd foux I8& 4G W3 5G HO'd SIS Wy wizgh © wiis fY edas &t
Ja< ?

I 4G @9 mi3 100 Mbps 39 I AL f 5G €9 £ 20 Gbps T T |

II. 4G S8 &3A 50 A Afdz I A< fa 5G &9 fog 1 S Afds I

. 4G f@T S3fe3" 200 MHz 3 500 MHz J A< f 5G &9 £ 600 MHz 3 25 GHz
3

IV. I3 99 IS F=9H 5G deedd o8 4G R 20 J |

(a) fAISI (b) THIE I W3 III

(¢) TRIe II (@ fAge W31V

30. 3ol T B HEU3 Jof I3 IES 9 fauz Adt I& ?

I e fefimrdt Iage (Irgae) Wi AfHE & 1850 fenr ffT Haoreg, fBass
&g gerdt Ifes fefdmirs & Wi wiimles &9 30l @9y A= ©f @93 i3t |

II. Sg3 A<M Hah € ni3 w3 59 88 HS A I6 A< Ut WY BJ1SdT 5:0 39 Ue
7 3 |

III. WH 33 '3 cTE8e, ASHG W3 IJ JIH Her 5:0 Ut wig 3 We Yogf o8t A 3
e"tréuag"e%r’r%?sl

IV. 3y, Ird, AGY 3 IJ W UFT 3t Are S8t Hemit i miiHe 5:0 3 ue
Ul Ugg '3 0 AeTarl® gemff I& |

I fofmi R AS 3 gae @39 S ds ad |

(a) THIS I, IIW3 III

(b) THIS I3 II

(¢) THIE IW3 III

(d) fASe 1, IIwW3 IV
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Which among the following are true about Sagarmala project *

29.

30.

I.  To enhance the performance of logistic sector

II. To optimally wutilize the country’s waterways and coastline for cheap
transportation

III. To develop SEZ in the coastal areas for export

IV. To develop 5 new ports to increase trade

(a) II and IV only (b) I, II and IV only
(¢) I, III and IV only (d) LIIL I and IV

Identify which do not truly describe the major differences between 4G and 5G
communication :

I.  Speedin 4G is up to 100 Mbps while it is up to 20 Gbps in 5G.

II. Latency in 4G is 50 milliseconds while in 5G it is 1 millisecond.

ITI. Bandwidth in 4G is 200 MHz to 500 MHz while in 5G it is 600 MHz to 2-5 GHz.
IV. Presently geographic coverage is more in 4G than 5G network.

(a) Tonly (b) II and III only

(c) IIT only (d) III and IV only

Regarding acid rain, which of the following statements are correct ?

I.  English scientist Robert Angus Smith coined the term acid rain in his studies of
air chemistry in Manchester, England, in the 1850s.

II. The eggs and young of many fish species are killed when the pH drops to about
5-0.

ITII. Trout, salmon, and other game fish are usually the most resistant to pH levels
below 5-0.

IV. Carp, gar, suckers, and other less desirable fish are more sensitive to pH levels
below 5-0.

Choose the most appropriate answer from the options given below :
(a) Only I, II and III

(b) Only I and II

(c) OnlyIand III

(d) OnlyI, III and IV
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I J9H Ut YIe <8 THEl wHdler 2% 2fder I

II. J9H Us &% Gug G@asrde I AT I

III. JI9H I< <0 9, A &% We Tsm 3 37t Srfgr Jet 9
IV. wWeJdt I, 69 g™ W3 JI9H, YA HAH T JJ6 geat J
Jo Bfmi &9 A feasy € 9T a9

(a) I,IV,III II

(b) I II, IIL, IV

(¢ L IILIIL IV

(d) I IV, IIIII

32. TIS T GIF H3IBE '3 fore yIret € Ady R widns © I |3 aue’ 79 fagz

At & ?
1. fogs @ I 3F1EHs © 3T o8 883 we Aewr I w3 feg uaSt S A3T ©
IS S we ider J |

1. foo' @ ITeHE © HuE &8 AFGS 39 '3 TUHIS © IUHG § 07 Ao I W3
for 39 ©< udst €8 AU THaTT @97 § TUER I w3 TISt 3 I9H
TYHIT {9 Gar © HUBd STHed & WeGe T4 |

111 fog' @ For ISens < fHige o8 nes3 fo oo J Ao I w3 feg a3t &
ﬂs'aés'*u}rr?s?sw—aﬂa?él

v. fost 2 IFeHS T AHE &8 AEGd 39 ?Wémam—aﬂa@éw@
@Hwéémwﬁmm@awaw@é%wm?m
SYHIS 39 @I © HuSd STHSI ?satr@éa'csl

@ledd & 1%@ IOId:I [SR=T¢) ﬂ?ﬂ' Jo ?
(a) fHIE I3 111
() fAgeS I3 11
(¢) fASe I3 11
(d) fAge u»31v
33. JJc/ASH A AIEMis 3 831 wiesifed 939 © &3 et 33 9igH urel 8 J At
J, dfagrAer I
(a) JABSISM IS (b) TIHIE dAIe
(c) AISHUST ACH (d) dIBI ASH
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31. Arrange the following in the correct sequence of events

Oscillation (ENSO) :

I.  Warm water flows eastward to South America.

II. Upwelling blocked by warm water.

III. Warm air rises, causing low pressure and heavy rainfall.

IV. Descending air causes high pressure and warm, dry weather.

Choose the correct answer from the options given below :

(a) LIV, 1I

(b) L IILII, IV

(¢ LIILIIIV

(d LIV, I III

32. Which of the following statements of aerosols are true with respect to its effects on the

Earth’s energy balance ?

I.  Their scattering of solar radiation may decreases the albedo, and that decreases the
Earth’s surface temperature.

II. Their absorption of radiation may locally increase the atmospheric temperatures
and thus both increases the radiant energy directed towards the Earth and
decreases the convective transfer of energy from the earth to warmer atmosphere.

III. Their scattering of solar radiation may increase the albedo, and that decreases the
Earth’s surface temperature.

IV. Their absorption of radiation may locally decrease the atmospheric temperatures
and thus both decreases the radiant energy directed towards the Earth and
increases the convective transfer of energy from the Earth to warmer atmosphere.

Which of the above statements are correct ?

(a) Iand IIT only

(b) Iand II only

(c) II and III only

(d) II and IV only

33.

The current/stream that carries warm tropical water from Caribbean to the cold waters
of North Atlantic region is called :

(a)
(c)

California current (b) Kuroshio current

Circumpolar stream (d) Gulfstream
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35.

36.

I 2IA S I8 IHE S GeS W3 I fegdd €3 18I fegarg @3 Ael I w3
w2 FETE Angt € I fegarg €3 |

II. 89 A3 7 393 T &3 3 &8 g @ Wdle & Jfe-frs-23 § fouisfas
IIe I W3 AeTs € wigse 270 © 393 I § G € HHIE & Jfe-fta-83 ©
U &g e SESMif Jre Tt gandT |

1. I+ T &3 IfiHs ewrgr i fagrgrt @ worg '3 IrA &g Jgrfest w3 &ag
yfsaret € A3 ©f YI3! 88 IH © AYI3 &3 § 08T 38 Bdle gum |

(a) IW3II (b) IIWIIII

() IWIIII (d) I IIW3III

WHATTSS Ffimit & IfTASHS B8 &-1H U9es 93 JI6 %9 956 fegrd -

I for § 593 H3Tw 28 &g &i3T famr 7t |

II. AJ IMACIZ S § AIST ©Mff -3 AHTHS HIftmr urerer (fAR fa
o, 7 et Ha-0s vreT) & 88 8t B8 Goledns wage &89 (UAN)
T G-IH IIF At 3T AEGT |

[II. WSS ged dda S8 B3 I 3 7 AEE widi3™ @ HHS &9 5 &9 gud
WHETE WUAT3T @ HHS R 2 &Y gue & feerer |

J& Y a3z <8 AJt €39 < I a9
(a) fASE IW3 11 (b) fAgE 11 W3 111
(c) fAIE IW3 1M1 (d) L IIW3 III

Is fofmi T fagz 33T HUE3 AJaTg =8 Hat =oge Idt w3 widfga we &
AEST 58 &fdos T8 WU Hie I6 ?

1. fi 2ant iSg 9231 € &8 fowrd ©af § wege

II. 93 W3 359d a8 3 Ag o'

III. AJIII Hao feg =

Iv. <3t 8309 § weger

AR €3S v :
(a) I3 (b) HTIW3IV
(¢) IW3III (d) IW3IV
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34. Consider the following Terms of Reference for Fifteenth Finance Commission

I.  The distribution between the Union and the States of the net proceeds of taxes
which are to be divided between them and the allocation between the States of
the respective shares of such proceeds.

II. The principles which should govern the grants-in-aid of the revenues of the
States out of the Consolidated Fund of India and the sums to be paid to the
States by way of grants-in-aid of their revenues under Article 270 of the
Constitution.

III. The measures needed to augment the Consolidated Fund of a State to
supplement the resources of the Panchayats and Municipalities in the State on
the basis of the recommendations made by the Finance Commission of the State.

Select the correct answer from the code given below :
(a) TandII (b) II and III
(¢) TandIII (d) I, II and III

35. Consider the following statements about E-Shram Portal for registration of
unorganized workers :

I. It was launched by the labour ministry.

II.  All registered workers shall be issued an e-Shram card with Universal Account
Number (UAN) to avail benefits of various social security schemes of the
government (like PM Shram Yogi Maan-Dhan Yojana).

III. Provision of accidental cover of ¥ 5 lakh in case of death or permanent disability
and ¥ 2 lakh in case of partial disability.

Select the correct answer from the code given below :
(a) TandII only (b) II and III only
(c) Tand III only (d) L IT and ITI

36. Which of the following policy measures does a government usually take to boost
demand and support the economy in deflationary situations ?

I. Lowering interest rates together with cutting direct taxes
II. Emphasizing savings and enhancing salaries

III. Increasing government expenditure

IV. Going for tapering of fiscal stimulus

Select the correct answer :

(a) TandII (b) IITand IV

(¢) TandIII (d TandIV
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37— I FHHIH g9 96 %Y JE6 fega |

I. Hud3 IHcy Geuidd fedr Hiles 28 feg ysus © Aasy T Ufgshs i3t
A<t 3 fare 393 @ WU (J3uga &% Jisg3 9 AHAd 3 @73ede Auat
HHIBnTt & ESlif3 9% I |

1. fog seft <91 I far It Harer o It Ut 3 8GR fJATT @ AvA § 99
TUA © Ade fAA 9 89 Haar 1" 39 I& |

111 USt  Wide 2013 & FAANG. § T o137 Ifenr I |

IV. SUal nide © ATHs 135 © WoH'd Asd I3 SUst fAATT &< @98 T 1000 J33
7 20 A T 2000 IIF T IS 6=I 7 U A T 5 I9F T I8 HET A =24, fIH
& AEe 3 A &g anrfenr I 31 GRS wuR o9 &3 A @9 W 3 ue
2 YSH3 WA3S &3 €9 ¥du 9" Udr H 8F Sudt & fUsd 56 A feo
e I frrAS HLA g, &9 egrrfenr famr 3

J& 89 93 <5 Adt €339 & 9T a9
(a) fASS L 11 w3 111 (b) fAIS IL, I w3 IV
(¢ fASS LI W3 IV (d) I IL I3 IV

38. TITH JIH I, Jic T I8 Is Bt €Y fagd en R Afas 3 2

(a) ITTIAIS (b) ITTIAIS
(c) SIIINGHAIS (d) Eaafarss
39. I Bfemit 3T ooz B35 B9 T W JIa T4 Frienr Aer J ?
(a) U cEg faage (b) IAfeAs fadge IIAc
() THH SHES UdS (d) ITIC SHSS UId

40. IS FAT (BoP) W § fH 3 Wi i3 7 Aafer J ?

I W3ZHET T Weer

II. TIve 383 eager

III. WIG G3uwa § foaus ASfHSMT YTrs dda"
Iv. feer36uade

Jot i3 337 T =93 59d At €33 T .
(a) fASS I3 1I (b) fAIE IW3 111
ORRLECERIRESNY (d) L IIW3 III
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37. Consider the following statements about ‘Corporate Social Responsibility’

I. The United Nations Industrial Development Organisation defines it as a
management concept whereby countries integrate social and environmental
concerns in their business operations and interactions with their stakeholders.

II. It is essentially a way of giving back to the society in which the company is doing
business and making profit for shareholders.

III. Companies Act 2013 made the CSR mandatory.

IV. Section 135 of the Company Act mentions every company having net worth of
% 1000 crores or more or turnover of ¥ 2,000 crore or more or a net profit of
% 5 crore or more during any financial year will have to spend in every financial
year at least 2 percent of the average net profits of the company made during
three immediately preceding years on activities defined under CSR.

Select the correct answer from the code given below :
(a) I, II and III only (b) II, IIT and IV only
(¢) I, IIT and IV only (d) I II III and IV

38. Darvaza Gas Crater, Gateway to Hell is situated in which of the following countries ?
(a) Tajikistan (b) Kazakhstan
(¢) Turkmenistan (d) Uzbekistan

39. Which of the following is better known home of golden langur ?
(a) Pakke Tiger Reserve (b) Kakoijana Reserve Forest
(c) Rajaji National Park (d) Desert National Park

40. How can Balance of Payments (BoP) deficit be reduced ?
I.  Depreciation of domestic currency
II. Increasing import duty
III. Providing export subsidies to domestic producers
IV. Borrowing from abroad
Select the correct answer using the codes given below :
(a) TIandII only (b) I and III only
(¢) II and IV only (d) I, II and III
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A WSH'I AJI'd T A3 3 23" A93 fagzra-2

(a) A3 W3 AT oA
(b) TEMS weree 363
(c) FIUIHE TAH
(@ €93 IJ TeeImi
42. Y HAc AIST (EBR) © FAegs {9, o i3 s '3 fegg &3 |
I. EBRs 69 &3t Ssvd I6 1 A&3d 93J © wiErfanl ewrgr §aremi Jieht I&
et B8 U3 y& W3 fenrd & »F wefedft deg AISd © gre I SSt ATl J |
1. 3t w2 <t gre SI€ AX EBRs § fimis 99 odt Ifemr #er 3 |
111 Yt Aege = fog 3dlar 2016 3 Se a3 i3 famr I |
g &3 I gEe 9 fauzr/fagz Adt 3/35 ?
(a) fAge1I (b) fASE IW31I
(c) fAge m (d) I, I3 III

43. “Hortinet” B8 I& Y JH& f&d fag3™ At /I ?

1. foA $ APEDA <8 feafizs i3 famr I |

1. fog g g&ifqz SAfasdt Ydu I A geugd § fogus a8 ficade o8
HefyZ A< Yors S9er J |

111 fog Aerfes Wy grdt 93t & 3dfs At § duogd s9w J |

Iv. ydie 89 e 28 ays fods i3 AT 96 w3 wifiad § fotlget vt

e I& |
(a) fAgeS I3 1V (b) fAIES I, W3 I
(c) fAIS II, I W3 IV (d LILIIW3 IV

44, ‘AEEd ALE3T dvd’ A8l I 88 IEaT 3 fegd a9 |
I fog 59 3 YAde H3T® © witlls wiger 3|
II. fog RBdcioa W3 HFO& IA&HBH HITB (MeitY) © Wilia wiger J |
II1. 5T Scse ISHEN w3 Hoend ferdre deg J |
Iv. fog Al-39 28 gafenr JAer J |
Suda3 FEe fFT faur a8s At I6 ?
(a) THAIS IW3 IV (b) THIS I3 III
(¢) fASS L IIW3 IV (d) fAIS IL I3 IV
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41.  According to the [Union Budget 2023-24 which among the following is the bhiggest.
source of the government ?

(a) Goods and service tax

(b) Union excise duty

(c) Corporation tax

(d) Borrowings and other liabilities

42, With reference to the Extra Budgetary Resources (EBR), consider the following
statements.

I. EBRs are those financial liabilities that are raised by public sector undertakings
for which repayment of the entire principal and interest is done from the Central
Government Budget.

II. EBRs are not taken into account while calculating the Fiscal Deficit.

III. This method of raising capital has been discontinued since 2016.

Which of the statements given above is/are correct ?

(a) Tonly (b) TIandII only

(¢) III only (d) I, II and III

43. Which of the following statement(s) is/are correct for “Hortinet” ?

I. It has been developed by APEDA.

II. It is an integrated traceability system that provides internet-based services to
the stakeholders for exporting.

ITI. It captures the geo location of the farms through the mobile app.

IV. Samples are collected by private lab agencies and the reports are sent to the
authorities.

(a) IIT and IV only (b) I, II and III only

(c) II, III and IV only (d) I, II, IIT and IV

44. Consider the following statements regarding “Cyber Swachhta Kendra’.

I
II.
III.
IV.

It comes under the Ministry of Information and Broadcasting.

It comes under the Ministry of Electronics and Information Technology (MeitY).
It is Botnet Cleaning and Malware Analysis Centre.

It is operated by C-DAC.

Which of the above statements are correct ?

(a)
(c)

I and IV only (b) II and III only
I, IIT and IV only (d) II, IIT and IV only
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I AR gt € i AT € gmie <3 I8 S8'83 Sfugfdar @3egE © i Ay |

1. fog @H 39 €8 Fion § 993 596 W3 fendne 396 oo fx 37 ferdne
Aecand J |

I1I. fog Hoo" W3 YAdE H3T® I8 B oi37 famr A |
1v. fog feddcfosn w3 Hoe Id&BH HITS 28 &g Stz famir (MeitY) # |

(a) fHIE 1IW3 III b)) fAge U3 1v
(¢) fAGG I3 IV (d) fAge L, w3 1V
46. I Bt &5 fFa3 A3 3 20 BTANST I 2
(a) JI=F (b) FIS (c) T3S fHSt (d) USHfeH

47. I3 & I3 fard S e yerght AR Sfgrfed, agd, wd-fity, ewa-fsan,
g= 3 g w3 WA-fiads yzdnt T feam di37 3 | I fafimr &9 fagst agn
fimrfes J 2
(a) MRS (b) Y3W (0 fyEst d fog3

48. ToAI T wifefnm-11% 1 frs god S ISt Yfafanwret & fesrus AHs § mide
I w3 FIA 33 fefomirs it gz IfJEit mifimret § I8 334 | gart I &t
I 3 feAst @ €3 & AHSE BH fdugT U39 ATEl JEdT ?

(a) Hrnfe (b) WHGE

=

(c) ZrEMIBH d) SmigmieA

49. =T 3 g% A "gmiE, LIGO-EEFM wiHdlar, Wau w3 AUa (LIGO-VIRGO-KAGRA)
ISECHS 2T (GW) f33dea’ © dcedd S8 AHE I A8dr | 3793t f33dcg I93"
3391 f3dams © foar ufag & =urge €9 Hew Jaad! ?

(a) FI3 ATSISIS

(b) I3 W< FIgd3" 3 U3T FQE"
() AAHI HEIgRe Sa9rE3 3 GW © fHardgad © U3™ Bger

@ GuIa3s A

50. H&H AJIT (39 70 fIBH) © I8 A9 © urel & wiA3 H3ar 99 I Bt 89
gz At I 2
(a) 42 &g (b) 45 Hed (c) 50 IBed (d) 30 3egd
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Which of the following statements are correct for “MeghRaj” ?

46.

47.

48.

49.

50.

I. A set of distributed cloud computing environments following a set of common
standards.

II. It is a data analytics software to record and analyze rainfall across the country.
III. It was launched by the Ministry of Information and Broadcasting.
IV. It was launched by the Ministry of Electronics and Information Technology

(MeitY).
(a) II and III only (b) II and IV only
(¢c) TandIV only (d) I, II and IV only

Which of the following is most elastic ?
(a) Rubber (b) Steel (c) Wet clay (d) Plastic

India has realised development of all types of missile systems including ballistic,
cruise, anti-ship, air-defence, air-to-air and anti-missile systems. Which of the
following is a cruise missile ?

(a) Agni (b) Pralay (c) Prithvi (d) Nirbhay
Aditya-LL1 mission of ISRO will enable a comprehensive understanding of the
dynamical processes of the sun and address some of the outstanding problems in solar

physics. Which instrument will help understand the composition of solar wind and its
energy distribution ?

(a) PAPA (b)  SUIT
() VELC (d) ASPEX

A few years from now, LIGO-India will join the network of US, Europe and Japan
(LIGO-VIRGO-KAGRA) gravitation wave (GW) detectors. The Indian detectors will
help in enhancing which aspect of the gravitation wave detection ?

(a) Source localization
(b) Detection at much lower frequencies

(c) Detecting signatures of GW from Cosmic Microwave Background

(d) All of the above

Which of the following is true about the average volume of total body water of human
body (70 kg) ?

(a) 42 Litres (b) 45 Litres (¢) 50 Litres (d) 30 Litres
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(a) dH
¢ I

NH NI HIIS faH F &% AUl I ?

(b)
(d)

GET IT ON
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Aud3 I

52. AL S fagd oot S8 § 29T, fage I eE A AR I A FB HO T
feuerar g9 w, fi T an I, Wid =9 § udies, fage 3 &= 3 Jue At fan J9

3IF T A YUS JIG 3 Urset FGEmIF IS ?
(a) AIHS 370 W3 3708
(c) AIHG 3628

(b)
(d)

AIHS 372 W3 373

53. Jo B &9 faafani § 9793 © Afears <o “‘Hae fedu wiftarg™” © f[JA < 7Hs

a3 famr J 2

I We greshv @ I3 S mafamr

II. SacImit W3 yret &g Sfowt @ gaard F Ha™l
. §3-8'3 T H3H

IV. HEHT SASSH EF HE™Jt w3 HEd Hegat

Jot fid3 I3 T =93 J9a At €39 TT ¢

(a) B LIINWI IV
(¢) =B IIWI IV

(b)
(d)

AT I W3 IV
LI, III W3 IV

54. YoM Hol iRY ©I9r HHS © AT @9 Hge' Ide © o33 Ysus & «g ves3t

d= AU 99 AaeT J ?

(a) I'I3 T FUIH I
(¢) I < AlHIT &S HAC

55. foge RS Aoz A AN ST &8 IS &dl ¥ier J ?
(@) Aifsge A - fas & ARE § S

(b)

dTg AgAd H3 It
(d) HAS THS T

(b) IIleEF €IS - or § B9 IgH3 &8 feus AT ©dT I A3 AT HaeT I
(00 wfAe @e - feos A3 ©wgr UH &3 912 5% '3 J8 I & a3
(@) U T - & 3 welfg 7 o8 58 S ynd! S9&, &7 It I€ JI&" W3 & I

<YH JIET

June 2023
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A1 MH-60R Seahawk

(a) Russia

(¢) China

belongs to which of the following country ?
(b) Israel
(d) United States

GET IT ON
Google Play

52. Which Section/Sections of the IPC prohibit(s) sale, letting on hire or otherwise
disposing of a child or, as the case may be, buying, hiring or otherwise obtaining

possession of, such child ?

(a) Section 370 and 370A (b) Section 67

(¢) Section 362A

(d) Section 372 and 373

53. Which of the following are included as being part of the “Right against Exploitation” in
the Constitution of India ?

I.  Protection of the interest of minorities

II. Prohibition of employment of children in factories and mines

III. Abolition of untouchability

IV. Prohibition of traffic in human beings and forced labour

Choose the correct answer using the code given below :

(a) I,II and IV only (b) II and IV only
(c) III and IV only (d) L II, IIT and IV

54. Who can establish additional courts for better administration of any existing law with

respect to a matter enumerated in the Union List ?

(a) Supreme Court of India

(b) Union Government by resolution

(¢) Parliament with the consent of states

(d) Parliament by law

55. Which of the following pair is not correctly matched ?
(a) Absolute veto — Withholding of assent to the bill

(b) Qualified Veto — Can be overridden by the legislature with a higher majority

(c) Suspensive Veto — Taking no action on the bill passed by the legislature

(d) Pocket Veto — Neither ratifies nor rejects nor returns the bill for an indefinite

period

June 2023
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I
II.
III.
IV.
V.

(a)
(c)

I
II.

eI IIL IVW3 V

GET IT ON
Google Play

NSt St I fafamr fod faadhit fermsret lgs2
fog 9 feors Az & ffa Wiae ewgr AgU3 3T AT J |
fog g &2 feamHts Afgg B9 AIfs3 3T AT I |

oA Ehif Ha3M &d1d 3RS it Ha3M € AHG Jemif I6 |
fog ySt 3g° ffd avme Hrer J |

for T Snvgies NS © Heat ewrgr gfenr AT I |

=& I, IV V
FI3 T 3 dfiAs g9 It i3 I86 '3 I a3

for <o ffa owars w3 35 Ig Heg R I& |

A © AT T W8T IHeIu3t ewdr fagoa3 st Al I |
1. fog 3733t &3 AweT © 386 Ud® @ a1 g9 J |

(b) <& IL I3 IV
(d) d<& L, I W3 IV

BuIa3 FE &9 faazT/faaz At I/T& ?

(b) <& II W3 III
(d) I, IIW3III

Ho!l I © Hot 11 &% THES g I8 gomit I& %Y 93 &9 Adt €39 9

(a) =B IWIIII
(¢) I=EHIII

Aol 1

(Ufg® geh)
A. B-fgRgA Acgqg ‘fanrg

Sparey
B. HUH (SUPACE)
C. HSH (SUVAS)
D. g-anct
as:

A B C D
(a) 3 1 2 4
® 3 2 4 1
¢ 4 1 2 3
@ 3 1 4 2

June 2023

Hot 11

(€<m)

Ugcs J e HarAe Igat 8d & 7t
o AgfesT a9%T I |

Aacend J 7 fodfen v wige< 933t
AT 9 996 R Hee a9 J |

w3 g weg3t f[<g S ©f g-Trai&ar
< AgSS o= |

ferer G2 21 39 S A wETB3T §
WA €9 AFe" W3 97931 66 feeRET ©
ICT & HAES SI& J |

(A-30)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

56. Which of the following are the features of a notified area comnuittee ?

I. It is set up by an act of a state legislature.

II. It is constituted for a newly developing town.

ITII. Its powers are similar to the powers of the Municipal Council.
IV. It is entirely a nominated body.

V. Its Chairman is elected by the members of the committee.

(a) III, IV and V only (b) II, IIT and IV only
(c) II,IV andV only (d) I, III and IV only

57. Consider the following statements about Finance Commission of India :
I. It consists of a Chairman and three other members.
II. Qualification of the members of the Commission is determined by the President.
III. It is to act as the balancing wheel of Indian fiscal federalism.
Which of the above statement/statements is/are correct?
(a) Tand III only (b) II and III only
(¢c) IIT only (d) I, II and III

58. Match List I with List II and select correct answer from the code given below the lists.

List I List 11
(Initiative) (Aims)
A. E - Resource centers 1. It is an artificial intelligence based portal
‘Nyay Kaushal’ aimed at assisting judges with legal research.
B. SUPACE 2. It is an artificial intelligence based software

that can assist in translation of judgments
into regional languages.

C. SUVAS 3. It will facilitate e-Filing of cases in the
Supreme Court, High Court and District
Court across the country.

D. E-Committee 4. It aims to interlink all the courts across the
country and make Indian Judicial System
ICT enabled.

Codes :

A B C D

@ 3 1 2 4

(b) 3 2 4 1

() 4 1 2 3

d 3 1 4 2
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(a) F&SH (BhuNaksha) - f3Hies daAcs Afla 3¢ fid I%
(b) SHI (Bhoomi) - I8 T AIST eV A4 wHIS fasrast § fadiedn
JIa W3 f8d Argcanig g8 B8 UfgsaeH
(c) TIST (Dharani) - 38IMeT € AIST ©HTT fanSSIHIS SHT 5H ™8 RoR 37
$ TSz 96 T UfgBaeH!
(d) HITHIT (SVAMITVA) - BRG3H AJRHE II6 IIo'3H enrar Ug 839" <o
wreel, THle S Jesl w3 faargg witerg /ruadl
I3 YIS IIG B WA
60. E-JIRISH AT 2022 © AHY €9, Io &8 sust & fegd w3 At feasy & Jge
a9 :
I ‘B-3=IsAC ASR 2022 : fe faBua e f3ries Jedaie’ gils. wiafad w3
AHTAS HHISWT @ fegrar enirgr Ardt St 3T fami |
II. 393 B-JeI&H feaH Aoad ffg 105 W3 -9l Aoad €0 612 AF® '3
3,37 2020 2 I 100 w3 20 T I T I+ I | )
1. f-Jedare feesude fi3an g Aus ufdd Ags 3 A fa IoHad

g-gdfierat gods (Rg ufgd a3 J |
(a) IEBII NI III (b) d=FIWIIII
(¢) ITBIWIII (d) I, IIW3III

61. UoHG I3 B WF f328ude wEgdl (PFRDA) ngr I f8fimit 8 fagdt
USHS HH / AeltHT I8Emi JAiemit 3/J& ?
I.  JHSI Jors Yergl (NPS)
I WS USHS UAaT
III. YOre H33t M Weit Haus (PM-SYM)

Jat i3 a3 T =93 9d At €33 TT
(a) ASHI (b) TA=FINMIII
(¢) AT IWIIII (d) L IIW3III

62. I Bimit fed fam HAEr & 993 © Ufa® AeeH B Riar w3 269 g Jec
Irar-ne. At § faafes w3 feafiz Sizr d 2
(a) IHCSI B feaH f&IH (NRDC)
(b) fefomirsa w3 Geufdd 899 Ufgre (CSIR)
(c) fJerA3® gdafcan fonfes (HAL)
(d) I g7 w3 fea A &I (DRDO)
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59. Find out the incorrect match from the following :

(a) BhuNaksha - A solution for Digital Cadastral Mapping.

(b) Bhoomi - Initiative by Govt. of Kerala to digitize paper land records and
create a software mechanism

(c) Dharani—  Initiative by Govt. of Telangana to integrate RoR data with
individual land map.

(d) SVAMITVA -Scheme to demarcate inhabited (Abadi) land and provide Record
of Rights/Property Cards in rural areas through the latest
surveying drone technology.

60. Consider the following statements regarding E-Governance Survey 2022 and choose
the correct option.

I. ‘E-Government Survey 2022 : The Future of Digital Government’ was released by
UN Department of Economic and Social Affairs.

II. India ranked 105 in the E-Government Development Index and 61 in
E-Participation Index, down from the 2020 rank of 100 and 29 respectively.

III. Japan ranked 15¢ in the E-Government Development Index while Denmark
ranked 1 in E-Participation Index.

(a) II and III only (b) I and III only
(¢) TandII only (d) I, IT and III
61. Which of the following pension scheme(s) is/are run by the Pension Fund Regulatory &
Development Authority (PFRDA)?
I. National Pension System (NPS)
II. Atal Pension Yojana
III. Pradhan Mantri Shram Yogi Maandhan (PM-SYM)

Select the correct answer using the code given below :
(a) Ionly (b) TIand Il only
(c) TIandIII only (c) I,ITandIII

62. Which of the following organization has designed and developed India’s first
Indigenously Flying and Trainer Aircraft HANSA-NG’ ?

(a) National Research Development Corporation (NRDC)

(b) Council of Scientific and Industrial Research (CSIR)

(¢) Hindustan Aeronautics Ltd. (HAL)

(d) Defence Research and Development Corporation (DRDO)
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63—l fZave I98T UfSH (ITBP) & WUE™ UJI'Z-ud : =
I3 fafemit fod oo av/g.dt. R AUz i3 J 2
(a) ToHTS y=H (b) HH W3 T
(c) BEH (d) frfaH

64. I Btmit fod A 2 feg 93T TI=H & wagag 2022 €T ASE TBIIMHY
HEWEas YaigH ‘Hdal & widHs 3T J ?
(a) AIHA (b) TEt A
(© #AUE @ gA

65. TaH (BRICS) © 328 &8 I 31 guat fod faaz s8s At 3/95 ?
1. fg=H (BRICS) 1 €99 Idmit wigw feemaret & Aoy gu 3
II. for € AaUsr 2001 feg It
I S wEdier § 2010 &g A famr
IV. 151 ffaH (BRICS) HAGS & Ansral Syt wadlsr Sadr
Jor i3 I3 T =93 94 Al €39 & I a9
(a) TAIE IW3II (b) fAISL IIW3 IV
(c) TAIS L IIW3IV (@ LILIIW3 IV

66. Monkeypox SFIG & I It iRy T&ar § Tfegn 3 Hu@e &d garits AdtAs exA
gmiHE (EMA) 8 Hgdt S I J | A Ssdls e ol &7 3 2

(a) MMVANEX (b) MPVANEY
(c) MVANEX (d) IMVANEX

67. HIY 2023 feg WUfd3 i3 I SHICH 936 A3 Ie3 © Hedd feg o &3
IEe" fed faa’d At I6 ?

I. fore 8 A Brites Ode wueg, wig 3 St i g™
II. foAe wias @3 H3T =8 i3 famir &

III. ferer @ed 'I9 II3™s f3Hes” A

I i3 I IAZ T WTI 3 AJ €33 ©F IE a3 |

(a) fAGE IW3II (b) fAIS I W3 I
(¢) fASS IW3 11 (d) L IIW3III
68. I fBfemit fod fagdt ysrg et & ‘JUACE QuI[la Bg AzT I ?
(a) &F (b) forg (c) FAIAWIH (d) IFAARA
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683. The Indo Tibetan

GET IT ON
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Border Police (ITBP) has established itis Mountain — Warfare

Training Centre in which of the following State/UT in July 2022 ?
(a) Himachal Pradesh (b) Jammu and Kashmir

(¢) Ladakh

(d) Sikkim

64. Indian Embassy in which of the following has organized its much sought after annual
flagship cultural programme ‘SARANG’ in October 2022 ?

(a) Germany

(c) Japan

(b) South Korea
(d) Russia

65. With reference to BRICS, which of the following statements is/are correct ?

I.  BRICS is an acronym of five emerging economies
II. It was formed in 2001
III. South Africa was added in 2010

IV. 15 BRICS Summit will be hosted by South Africa

Select the correct answer using the code below :

(a) TandII only

(b) I, III and IV only

(¢) I,II and IV only (d) I II, III and IV

66. Monkeypox Vaccine has been approved by the European Medicines Agency (EMA) for

protecting adults from the virus recently. What is the name of this Vaccine ?

(a) MMVANEX
(¢) MVANEX

(b) MPVANEY
(d) IMVANEX

67. With reference to the Digital Payments Awareness Week, organized in March, 2023,
which of the following statements are correct ?

I. The theme was “Digital Payment Apnao, Auron Ko Bhi Sikhao”

II. It was organized by Ministry of Finance

III. The Mission was “Har Payment Digital”

Select the correct answer using the code given below :

(a) Tand]II only
(¢) TandIIT only

(b) II and III only
(d) I, II and III

68. Which of the following space agencies has launched ‘CAPSTONE’ satellite ?

(a) NASA

June 2023

(b) ISRO (¢) SPACE X (d) Roscosmos
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70.

71.

72.

247

5T Jrac fedr 23 ure © Hegs 79, Jot fd3ametfd-aearrd

J/T& ?

I fond 14 5259, 2022 § T9 137 famr

II. for & <ed fesar enwar g &3 famr 7t

111 forer @2H wgdl SfEar AT Yors Jad grees @@ il gadet © fearr
&g AgfesT 9957 I

J&" fi&3 33 &t =I3 9 At €3I = a9 :

(a) fAge1 (b) fASEIwW3 11

(¢ fAge 1 (d) I, IIW3III

Hed 2o wd 20 & Ufgdl wizg Treg cotAlde 268 Jdi3d © Hegs feg Jat i3
Iue oo fagzr/faaa aus Adt 3/95 2

I. forer 2Ac 3o 83 @9 Wiifa3 i3 famr At

II. fore 39 &ef € I&F 520 Wed I

III. HIT &C! B Af3T 3 BISTT 40 Hied I&7 J

Jot i3 e 3z & =33 agfen At €39 & B a9 -

(a) IW3III (b) IW3II
(¢ fAge1 (d) I, IIW3III

Jot i3 2 @9 fan § g7 &, 393 & yIw S3fics AH & ufod g sHR U ©
fer3rs frifamr 3 2

(a) THE AIMI (b) TUS (c) =MIZE™H (d) fESSHMIr
HOl I T Hol 11 &8 fHE8'& Jde J¢ gomi I& €3 o3 fod At €39 g% -
Hol'I HOT I
(2023 &g U=H A YyIAdd yu3 dI& ) (B /B 3)
A Holed geed 1. TII<H
B. IH3TIS 2. HAS I
C. HBIE BT 3. WIS
D. WAmII. yA= 4. W3HS
as:

A B C D
@ 1 2 3 4
b 4 3 2 1
¢ 4 3 1 2
@2 3 1 4
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69. With

reference to lthe India Infrastructure Project Developmd

of the following statements is/are correct ?

I. It was launched on 14" November, 2022

GET IT ON
Google Play

nt Fund Scheme which

II. It was launched by the Department of Commerce

III. It’s objective is to aid development of quality PPP projects by providing necessary
funding support

Select the correct answer using the code given below :
(a) TIonly (b)
(¢c) III only (d)

I and II only
I, II and III

70. With reference to the country’s first underwater transport tunnel and the corridor for

metro train, which of the following statements is/are correct ?

I.  Its test run was conducted in Calcutta
II. Its length under the river is 520 meters

III. Tunnel is approximately 40 meters below surface of the river

Select the correct answer using the code given below :
(a) Tand III only (b)
(¢) OnlylI (d)

I and IT only
I, IT and III

71. By defeating which of the following countries, did the India’s Men’s badminton team
win the Thomas Cup title for the first time ?

Vietnam

(d) Indonesia

72. Match List I with List IT and select the correct answer from the code given below the

(a) South Korea (b) Japan (c)
lists :
List I
(Padma Shri Awardees in 2023)
A.  Munishwar Chandawar 1.
B.  Hemant Chauhan 2.
C. Mool Chand Lodha 3.
D. S.R.D. Prasad 4.
Codes
A B C D
@ 1 2 3 4
(b) 4 3 2 1
0 4 3 1 2
d 2 3 1 4
June 2023 (A-37)
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73 GST (I HIfER 3IA) © I &8 IS Bt fed fau e Ha-d Te—2

. fore 9nwgne g &3 IfHAag 9 |

II. WIS 279(8) © WEH'T, frg Seg w3 g7 T AT SIH I |
111 forer dy 1 TA w3 ATe S9AT &8 AaU3 Hfent 3 gamis w3 I+ §

frefor age S |

J&" i3 I8 33 & I3 I At §3I S TE I |

(a) A IW3 11 (b) fAIE I W3 III

(¢) TAIE IW3 11 (d) L IIW3III

74. HOIIT HO! I &8 A% 34 I&' i3 AF fed At €39 S g a3 ?

Aol 1 Holt 11
(598 YIAIT A3 — 2022) (S1%3)

A WA WISIH 1. WJH A3

B. WIH fonfSw3Aar 2. grAfes fefamrs

C. U6 ISJ6'®d, 3IBH ITeHzs W3 fefey 3. w3
Frfegfear

D. JdIBE II3H1, HaTs NS38 3 .50t 4. T3
TIUSH

a3
A B C D

@ 2 1 4 3

® 1 2 4 3

(c) 3 4 1 2

@@ 3 4 2 1

75. HIIS AGHS S93 AICIEAE HellH 979 I8 %Y g5 '3 919 o9
. HIS AGHS S93 AIciede AaH ffd @79 Qussd AaltH I 7 i 7S 2023 3

H'IT 2025 S T A& B8 J |

II. HetH »idles Wie-ufe Myt 93K 1000 UE, A gUB © JIet &9, w3 2u 3 <u It

A4 FIEE T HIHT 2.00 B9 UL T |

III. ¥3" Odd ¥z 8ge ©f W3t 3 B9 A% gmie ¥3 € 992 © 50% 39 due"

AT J |

V. for ASltH €9 7.5% Y3t ASoT forfos fam ea 3 |

SuIda3 I 7Y fagz At I ? At feasy TE

(a) ST INIII

(¢) dA=B L II W3 IV

June 2023

(b)
(d)

(A-38)

B I, 11 W3 111
ASS L II W3 IV


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

73.  With reference tolthe GST (Goods and Services Tax) Counci

is/are correct ?

I.  Its Chairman is Union Finance Commissioner
II. As per article 279(A), it is a Joint Forum of the Centre and the States

III. Its main function is making recommendations to the Union and States on issues

relating to Goods and Services Taxes.

Select the correct answer using the code given below :

IT and III only
I, IT and III

GET IT ON
Google Play

which of the following

74. Match List I with List II and select the correct answer from the code given below the

(a) TandII only (b)
(¢) Tand III only (d)
lists.

List1

(Noble Prize Winner-2022)
A. Annie Ernaux 1.
B. Ales Bialiatski 2.

C. Ben Bernanke, Douglas Diamond 3.
and Philip Dybvig

D. Carolyn Bertozzi, Morten Meldal 4.
and K. Barry Sharpless

Codes:

A B C D
(a) 2 1 4 3
(b) 1 2 4 3
¢0 3 4 1 2
(d 3 4 2 1

List IT
(Field)
Economics

Chemistry

Literature

Peace

75. Consider the following statements regarding Mahila Samman Savings Certificate

Scheme :

I.  The Mahila Samman Savings Certificate Scheme is a one time scheme available

for two years from April 2023-March 2025.

II. The minimum deposit under the scheme is ¥ 1000/- in multiples of rupees one

hundred and the maximum deposit amount is ¥ 2.00 lacs.

III. The account holder can withdraw up to 50% of the account balance after one year

from the account opening date.

IV. This scheme has a fixed interest rate of 7.5% p.a.

Which of the above statements are correct? Choose the correct option :

(a) Tand]II only (b)
(¢) I,IIT and IV only (d)

June 2023 (A-39)
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66— SifousT © AHASHds W3 O[St SH—626—IrE {626
EMPOWER), AT 35 58 86" § feurd |
I. G20 EMPOWER Y¥iee Adcd &g Wa3' & nEed w3 AHISHds § 3 a9

JI

II. G20 EMPOWER 2023 € ggn3t Hifdar sus fed J&t w3 Tl G20 EMPOWER
HifEar f3geamyan fea J¢t |

III. G20 EMPOWER < gAJ HIféqT © ferr I, “Higes Arasisds € € s a9
fefs@d nis fearet |

SUIa3 JEs /aEs fRY faaz At /3% ? At feasy gF

(a) fAGE IW31I (b) fAIE w3111

(¢ fAIEIw3 I (d I IIW3III

77. H& 5 2 A™g 9 I i3 faws' &5 faoz Adt 97 9 2
(a) fon &5 § WAt 98 Hfowr A<er A for Ko fige fan & 2an § 3us &,
H3H I T, el <, IERIEH HF [6UH B d96 &8 AU feeRge IT |
(b) HA 5% feg 9793 © Sz 3 H I3 © HAacadle <3 ©f SHSS et Ysu
Jo |
(c) M &5 93 T Adcadis 23 ffd IR © fours && Aeu3 J |
(@) Het 58 3793 & Agarg g UR B9 8= A fim Tnrgr I8 Irddt B ©
oo &5 AEfz J |
78. HIH © IS &8 Ufagnit T e o9
A Ui Es 1 dfenr Iftmr e T Rar I3 i @0  Tege 9
B. WIRIEIE 2 fog a2 fifr Y U 7 I iR wiggsrier STt
gIT IS
C. 933358 3. T Iferr 3BEC NII HF T Wiedd f[dee &8 I I
D. ASIETGB 4. fog GF gew I e il A T fon 3 S0 Sse g
J 13 fog WA &8 egtRUge d9 Aael I w3 ford
I D&% T 23 Haet I

as:

A B C D
@ 1 2 4 3
(b) 4 1 3 2
¢0 3 4 1 2
d 3 1 4 2
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76. Consider the follo ing statements regarding the G20 Alliance for_the Empowerment and

Progression of women’s Economic Representation (G20 EMPOWER).

I.  The G20 EMPOWER is to accelerate women’s leadership and empowerment in
the private sector.

II. The Inception meeting of G20 EMPOWER 2023 was held at Bhopal and the
second G20 EMPOWER meeting was held at Thiruvanthapuram.

III. The theme of the G20 EMPOWER 2nd meeting was, “Women’s Empowerment:
A Win Win for Equity and Economy.”

Which of the above statement/statements are correct ? Choose the correct option :
(a) TandII only (b) II and III only
(c) TIandIII only (d) I, II and III

77. Regarding money bill which of the following statements is not correct ?

(a) A bill shall be deemed to be a money bill if it contains only provisions related to
imposition, abolition, remission, alteration or regulation of any tax.

(b) A money bill has provisions for the custody of the Consolidated Fund of India or
the Contingency Fund of India.

(¢) A money bill is concerned with the appropriation of money out of the Contingency
Fund of India.

(d) A money bill deals with the regulation of borrowing of money or giving of any
guarantee by the Government of India.

78. Match the following aspects of streams.

A.  Point bar 1. The cut off meander part bends to form this
structure
B.  Oxbow lake 2. They are found in short segments where the

underlying topography and bed rock structure force
them to form this structure

C.  Braided channel 3.  Sediment deposition takes place along the inside
bank of meander bend

D.  Straight channel 4.  Formed when a stream contains more sediment
than it can readily transport and splits it into
multiple channels

Codes:

A B C D
@ 1 2 4 3
b)) 4 1 3 2
0 3 4 1 2
d 3 1 4 2
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79 feufie foem-34 (Alternative Investment Fund) (AIF) 3'd!
di37 famr JEt & 3 I A f5H 39 '3 US A3 foeH TS I W3 ° HTS feE,
ﬁ%ﬁwﬁéﬁéa@éwmﬁﬁﬂﬁémﬁﬁﬂmwa
@éﬁwélé.w.ﬂa.éﬁWWﬁHé@WWé?

(a) 2 (b) 3 (c) 4 d 5
80. W3g-gH Tfowe uer feee (RU) 5%, 2019 © Acds &g, dof &3 Juat &9
oz Adt I 2

I 5% Sfowred ueh € <3 579 A9 nwi39-IH st 873 foge d9s 38 fiq
AEd fefa8a% e 996 T YASR SIT7 J |

II. feee fouear anct © AS © wieg feewe § Jigg3 gdt I8 ads < Afad
390, F & 6 Wttt I Tarfien 7 Harer 3 |

111 feee © fouea & Ager yerdt Smiart w3 fcfagas © o8 i & 2-dudt

Ugo § I B=4 |
(a) fAge I (b) fHAIES I W3 111
(c) fAIS IW3 111 (d) fAgg I3 10

81. 3T fx wer Ju w3 e filc Jg T fox ArrgE Wl wil fedre et I | A9
wF &9 feurfonr famr it 12:15 3, 3t Wer I8 w3 fie 35 fegarg fdar de 89T ?
(a) 90° (b) 75° (c) 84° (d) 82-5°

82. Withr & X gu? g A &l faan faurfae (F.D.) f9 foen a9 €3, fan 3 87é 6%
A ATde fanrd Yu3 Ifr | Ufad A € wis {9 yuz I& gt & widh it
Ers ffg I9 A® sa g fean 3ufae <9 foem a9 &3t 7 Ao 5% AOIs
fon ST I, gl GRS SO I8 fo Wikt It ¥9g a9 &3t 3 ga witt 593 854
ur3 fg gt Ifge &3t fam '3 8RS Asor 3% AUgs fonrd fiser 3 | et faA I9
WHES W3 HIg 3 Add g H'S © 13 3 8F d8 99,534 U I6 3T X 59=d J
(a) 1,00,000 (b) 90,000
(¢) 1,20,000 (d) Budas T Jgt &It

83. fa ¢t Afag ©9 €3 =fg I uel <t €9 r dica/e o5 i Hdzdas 2a §
Gﬁleﬁ—u'aaérméaéa@f‘eaaeaa@?ﬁwé?ﬁwéﬁaﬁaaea@?
g 39 a9 f&as Aa 7 fa gt &9 29 R uet 395 & v © 1/3 IR € g9r=g
J | A 3 I A=Ar 3 B¢ wUE-w gt I AT I | Aed 3 (€ ANS) HY RO
HH I w3 gt fed r died/fie & v &8 urel foaser 5g der I 3F yar & 995
o fdar At SJar 2
(a) 8 fHe (b) 9 fHe c) 12 fHe (d) 18 fHe
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79. Alternative Invesfment Fund (AIF) is any fund established ér_incorporated in India

which is a privately pooled investment vehicle collecting funds from sophisticated
investors, whether Indian or foreign, for investing it in accordance with a defined
investment policy for the benefit of its investors. In how many categories is the AIF
divided ?

(a) 2 (b) 3 () 4 (d 5

80. In context of Inter-State River Water Disputes (Amendment) Bill, 2019, which of the
following statements are correct ?

I.  The Bill proposes to set up a permanent tribunal to adjudicate on all inter-state
disputes over sharing of river waters.

II. The dispute resolution committee will seek to resolve the dispute through
negotiations, within two years which can be extended by 6 months.

III. The current system of dispute resolution would give way to a new two-tier
approach with DRC and the tribunal.

(a) IIonly (b) 1II and III only
(c) Tand III only (d) TandII only

81. You are shown a simple analog clock with an hour hand and a minute hand. If the
time shown in the clock is exactly 12:15, what is the angle between the hour hand and
the minute hand ?

(a) 90° (b) 75° (c) 84° (d) 82.5°

82. Ayesha invests ¥ x for a year in a Fixed Deposit (F.D.) that gives simple interest at
the rate of 6% per annum (p.a.). She invests half the amount she gets at the end of the
first year, for another year, in an F.D. that gives 5% p.a. simple interest, spends half
of the remaining amount and lets the rest of the amount be in her Savings Bank
account which gives a simple interest of 3% p.a. With no other income or expenditure,

if she has T 99,534 at the end of the second year, then x is equal to :
(a) 1,00,000 (b) 90,000
(e) 1,20,000 (d) None of the above

83. Water flowing from a tap at a constant rate of r litres/minute can fill a cylindrical tank
in 6 minutes. A hole is made at the bottom of the tank so that water flows out of the
tank at a constant rate = one-third the rate of flow of water from the tap. When the
tank gets full, the hole gets sealed automatically. If the tank (with the hole) is empty
to begin with and water starts flowing from the tap at rate r litres/minute, how long
will it take for the tank to become full ?

(a) 8 minutes (b) 9 minutes (¢) 12 minutes (d) 18 minutes
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85.

86.

87.

88.

() C T UI I oA 93Jes © §I8d & J Ao

(b) C T U3ISE WIS 39 I AR I I3 I

(0 CTU3ISS WASI 3T I AR WS I3, e dadr< 1
@ CTUBIB TS 3T 3TAR IS I3 I, e @ Add r < 2

i S IIrMT g8 S8 JIo" ©f 9F ©f <93 Jddl J | IIAM gegE R
e, Sfsfia w3 UfsH a9 AHs J | dee &8 3937 ©f 10% gJg<t Jol J,
Sfsfiar &5 Iz & 5% s3I ISt I W3 A 96 39 9 1% @ I J |
UfsH 996 &% 3wg @3uwT © 39 R9 2% =@ Jer J | Add Ufsy sisht
IIAMT T I% I 5285 SBIH I 3 fogt gIrimit § Ser8e BEt =931 I8 I3 <
BIF T o5 I9 faar I ?

(a) BT 600 fIBIH (b) BISIT 612:5 [SASIH

(c) B 596 fABIH (d) SIS 5925 FABIH

S9fer TER 2 ¥IY v 39 '3 f5EfE3 I I w3 IF Je 39 S9ger & fret @
'8 STBT JfJe IS | 25 959 IT '3 YISt fenast 70 gUR W3 50 9939 IT 3
60 FUE Y3t fona3t Brad 3T Aer J | AT 100 H939 I¢ I6 3t Y3t fenast g
St J=ar ?

(a) 45 gug (b) 50U

(c) 55Jud @) BuIgs T et &t

73, B fegrdieg Hegd § 30 fes' & fimie ©@ €96 1700 gue T 36 3T
famr 7t | for A @976 €9 4 fes dI9 I fogr w3 di9 Iwg Ifge '3 15 que Yt
oo gaHe Sren famir | 590 & Udt 3odT 18 foa & i3t ardl fagfa 89 =it foa
ol & wifer Hl | 8¢ W8T T § BF fes & with 3eug &3t Al At | i
fegrdied & Yt vdlesr I8 Iaug &6t # 7 99 37 A '3 wiger At w3 I di9
I &It g A 2

(a) 2400 U (b) 3000 U (c) 2700 guUg (d) 2250 gue

g ygret acqre § g9 g8t 3¢, fx I29red &difce go@e © « gue, ufad
10 fifet &« T 3/5 [JAT, w3 10 3 <0 I3 fife & « T 15 [JA 9797 J3er J |
wI1g 89 fod ygre 22q[e © &darfiee w3 20 fifet T I% 45 gue 9T JdT I I «
THS A I ?

(a) 3 (b) 35 () 45 (d 5
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84, (Cis a circle with radius r > 0. Then

(a) the circumference of C can never be equal to its area
(b) the area of C is definitely greater than its circumference
(c) the area of C is definitely greater than its circumference except if r < 1

(d) the area of C is definitely greater than its circumference except if r < 2

85. A company uses rosewood for making chairs. Making chairs involves cutting, finishing
and polishing. Cutting leads to 10% wastage of wood, finishing leads to a 5% wastage
of wood and a subsequent 1% increase in the weight due to nails. Polishing leads to a
2% increase in weight of the finished product. If the total weight of the polished chairs

is 528.5 kg, what is the total weight of rosewood used for making these chairs ?
(a) Approximately 600 kg (b) Approximately 612-5 kg
(c) Approximately 596 kg (d) Approximately 592-5 kg

86. The expenses of a boarding house are partly fixed and partly vary with the number of
boarders. The charge is ¥ 70 per head when there are 25 boarders and ¥ 60 per head

when there are 50 boarders. What is the charge per head when there are
100 boarders ?
(a) T 45 (b) %50

(¢) T55 (d) None of the above

87. Suresh, a daily wage worker, was paid ¥ 1700 during a period of 30 days. During this

time period he was absent for 4 days and was fined I 15 per day for absence. Suresh

was paid the full salary only for 18 days as he came late on the other days. Those who
came late were given only half the salary for that day. What was the total salary paid

per month to a worker who came on time every day and was never absent ?

(a) ¥ 2400 (b) < 3000 (¢) T 2700 (d) < 2250

88. To reproduce an old photograph, a photographer charges ¥ x to make a negative,
three-fifths of ¥ x for each of the first 10 prints, and one-fifth of ¥ x for each print in

excess of 10 prints. If ¥ 45 is the total charge to make a negative and 20 prints from

an old photograph, what is the value of x ?
(a) 3 (b) 35 (¢) 45 d 5
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il =1 e e w1 s v = o 1 9 IS |7 “TIIfT3 B T WASH em—uetE-Sdt-ei=
AL T N7 =0 ~J 7 N7 ST N INJT g L= | LIl

AT |7

(a) T3 3 WS &5 USE &t e

(b) =I3 3 1 WA &8 UsE e I6, IRII3 IT I&
(0) FI IAII3 B9 A3 IS

(@) TS WS 5T USE 7E @8 3d oY IS

geeFt: (yr5 3: 90 393 38 )

P,Q R, S, T,U, VW3 WIIrdd Ad © end € % Is f3 fos' 9 99 <a91 ©
Jfen '3 Sov Is AT fd 99 I3 AE3 © fegaa 2o I6 |

fAga B9 3fon '3 S5 I, 8J dTd 8 HI FIT I6, AT [ g9 Ufimif © fegag Soe
e@mwmaaéama@awwﬁ?éméfaiﬁﬂa wWIaieae, Tudt, e,

TdeIg WIEIT, 26d, Had W3 JdIJ (31 Irdt Areardt ffg €t & Agdt 39 3 €A g
fReadf J) |

90.

91.

92.

93.

H 339 I G nied Ho &t IaT7 | R w3 W © fegag fige © fana3t So8 75 |

A AT 3, QT W R I F A dow 3| A TedF G QT VR A UA TR
AES 3 w3, Vo 3T W w3 & It R, & aaelel aviet 31V, R @ B U IR
s 3 & Sovr |

R W3 U ITedia8 &t 96 | P W3 9/9e3 niagee fegard g fanast gawr J |
R, d3d TS UA A AT 3 S6v J |

fAggT 879c3 wargde J, B d3d T GrTidl IMiel &df I, S, 39T ¥ uA Soer I
R AfI g dagd I Vsa &t I |

TR Sdg I | T, P © &I& IMiE! &t I |

nrIeicae, T T sActel Imiar I |

Idcd, U T arciel amie! J |

J5 fEfamf &9 dE Jena © Ifediost 88 ferr iR Sovr J 2

(a) WIsice (b) S (c) P @) Tod
J& ffamit fed e Tracas nagle € arciel Imiemit § TIAger J 2
(a QU (b) R, T © Q58 (d S,U
Is et iS5 q= W w3 P © oS fegag gaer J 2

(a) R (b) wWIdlee (c) =gt d Q

Q I3 I Bt S8 fagzr Ao I 2

() QST aacll Imieh & ffg 3
(b) AT S IMNE I Q T

0 QYIUATAATS 3T I W e
@) Q 5538 SaTiEt it I Jerd ©
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89, “All quiet people alre harmless”. “No harmless people are easily identified”

The premises above lead to which of the following conclusions ?
(a) Quiet people are not easily identified

(b) Most people who are easily identified are harmless

(c) All harmless people are quiet

(d) Some easily identified people are quiet

Directions : (Question Nos. 90 to 93)

P,Q,R,S, T, U, Vand W are sitting around a square table in such a way that four of them
sit at four corners of the square while four sit in the middle of each of the four sides. The
ones who sit at the four corners face the centre while those who sit in the middle of the
sides face outside. Each of them have a different profession viz. Professor, Architect,
Businessman, Doctor, Chartered accountant, Trainer, Banker and Coder. (None of the
information given is necessarily in the same order).

o The one who is a Coder does not face inside. Only two persons sit between R and W.

° The one who is a Professor sits on the immediate right of W. The one who is
Chartered accountant sits second to the right of V. V is an immediate neighbour of
neither W nor R. V does not sit third to the right of R.

o R and U does not sit diagonally. Only one person sits between P and the one who is
Chartered accountant. R sits third to the left of the one who is a Coder.

o The one who is a Chartered accountant is not an immediate neighbour of the one who
is Coder. S sits on the immediate left of the one who is a Trainer. V is not a Trainer.

o T is a Banker. T is not an immediate neighbour of P.

o Architect is an immediate neighbour of T.

o Doctor is an immediate neighbour of U.

90. Who amongst the following sits diagonally opposite to Professor ?
(a) Architect (b) S (c) P (d) Trainer

91. Who among the following represent the immediate neighbours of the Chartered
accountant ?

(a Q,U (b) R,T (© Q,S (d S, U

92. Who among the following sits exactly between W and P ?

(a) R (b) Architect (¢) Businessman d Q
93. Which of the following is true regarding Q ?

(a) Q is one of the immediate neighbours of S

(b) Coder is an immediate neighbour of Q

(¢) Q sits second to the left of W

(d) Q is an immediate neighbour of the Professor
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 UHE 94 3 IJBFIES U IS YITTTHT AT €] €95 FI
S*TTHIBI SSEI T o |
S+TTHIBI IS ST IT T |
S-TT H3BH SY3IIJ T T |
S/TTH3ISE STWI T
S=Te H3sg SFUzTIT & |

SxTE H3IBT SH I T T |

94, IS e H3sgdfapssdqQer?

(a) Q+R-P (b) Q*R-P

(¢ P=Q+R d P*R+Q
95. Plradn o7 fesr Re ad Aae Jd 1 Q Bt 18 e Re g Aaer 3 1Q &

fasi® It sl Jg &3 W3 TmiE feg P B8R &® gF fami feg &H 12 fes’ R yar I
famr |1 Q & P &3 &8 fos g &H ai3T |

(a) 3 ) 5

() 7 (d 6

96. WHa 50 HWed/fHe T I239 &5 3T J | A3 5 fie © wizas 3 gmie Orer
fifgr ager I W3 60 Hied/file € Ie39 &8 B3w J | A3 T o437 70 Hiea/fie
T 92379 &% BT I W3 HU3 T &S It €35 HY FIT J | I3 wiHS 3 udeer I
w3 fag AfI3 as Tur wiger I w3 AfT3 © wHs 3 udoe 39 wifdar gaer Ifder
3 193 <5 viea o 3w dish I gt AT 3 2

(a) 288 (b) 770

(¢) 1400 (d) 1750

June 2023 (A-48)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

Use the relations defined below to solve Question No. 94.

247

94.

95.

96.

S * T means S is the sister of T.

S + T means S is the brother of T.
S — T means S is the son of T.

S /T means S is the daughter of T.
S = T means S is the father of T.

S x T means S is the mother of T.

Which of the following means P is the sister of Q ?
(a) Q+R-P (b) Q*R-P

(¢ P=Q+R d P*R+Q

P can do a piece of work in 27 days. Q can do the same piece of work in 18 days. Q
started the work alone and P joined him later. The work was completed in 12 days.

How many days did Q work more than P ?
(a) 3 (b) 5

(o 7 (d) 6

Aman runs at a speed of 50 m/min. Mohit follows him after an interval of 5 min and
runs at a speed of 60 m/min. Mohit's dog runs at a speed of 70 m/min and starts along
with Mohit. The dog reaches Aman and then comes back to Mohit and continues to do
so till Mohit reaches Aman. What is the total distance covered by the dog in metres ?

(a) 288 (b) 770

(c) 1400 (d) 1750
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FEFTF (5975 99) IBT 3 BH € U TH-TH H3T" [FT WEPfFee o o= oroe
I T8 I H'E T CHBHE d157 1 2018, 2019 W3 2020 EIS F& en™-gwd © H'E (BY
a5 [89) Ja7 183 57 e [fT few e [om J

IBT TTT EW-WEr T AH'S
8 15.8 lig
ﬁ ' 145
12.5
12 N 2
10 -
g .
6 5.8
7
‘;' 2.3 / 24
o 7 %ﬂ % %

W 2018 P22019 [J2020

97. 2018 — 2020 <t fime B T975, fdH B39 B WS < envr-endl & €9 T &899 '3
A 2
(a) YyI=g (b) THE © €39ygg @ €39

98. 2018 &9 €33 29, 2020 ST €39 YIT €T B H'E TB WS T WEHTSI HE ot I 2

(a) 31-16% (b) 36:02%
(c) 5844% (@) Gudes T ad &t
99. fI3 I 55 st fTu Tys ST B2 I A3 H'S T wigy'3 BA AN T UsH o 2
I W3 H'S T fdaf I 2
(a) 41:76% (b) 52:16%
(¢) 57-86% (d) 6587%

100. ¥ FAfET Tuinwes ffa 99 framer wigafewd 21 Wied I © U9 e Ly Afdet ffg
A J | i JaAars (B IH) At g7 42 Hicg I © 49 &% Fe 88 Qg fds

Afde SIredr |
(a) 56 (b) 84
(c) 64 (d) 58
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Direetions——(Question Nos. 97 to 99): Railways analyzed the goods—trarsported—usiieg—its

services across five different regions of a country. The total goods transported (in lakhs of
tonnes) during 2018, 2019 and 2020 are shown in the following bar graph.

Goods Transport through Railways

18 16.9
15.8 —
18 — 145
E 12.5 11.2 Z
12 8.9 7.4 % 7.7
6.1 5.8 5.6
6 4.5/ a7

2.3 2.4

% 7

North East South West Northeast

Il 2018 2019 []2020

97. During the period 2018 — 2020, for which region was the rate of increase in goods
transported second highest ?

(a) East (b) South (¢) Northeast (d) North

98. What is the approximate goods transported in North in 2018 to the goods transported

in Northeast in 2020 ?
(a) 31:'16% (b) 36:02%
(c) 5844% (d) None of the above

99. What is the ratio of average goods transported in South in given three years to the
average goods transported in West in the same period ?

(a) 41-76% (b)  52-16%
(¢) 57-86% (d) 6587%
100. A skating champion moves along the circumference of a circle of radius 21 meters in

44 seconds. How many seconds will it take her to move along the perimeter of a
hexagon of side 42 meters ?

(a) 56 (b) 84
(c) 64 (d) 58
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(I D w0 = 17—

FeEF - (s 191 F1103) I 83 1E TIC, T B
WIRHAGIH & ETAEE I | 6 TH-TH WElRIGIH 8 @5 & AIgel Ied &5 & FIe] IFd 3T
WIS SITHTENT [gP™ & | P I8 wEHISNH € 38 HIT 250 [FETH I W3 Q I

200 HBGH T/

WEHSIIH U'gsd P (250 faI3)

101. UIBd Q R 2318 & fa8qH feg 3T w3 ugsd P St W3ar fRg at wisg I 2

(a) 13 (b) 10

(c) 8 (d) 21
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Directions ~(Questiont Nos. 101 to 103) : The following pie chart—Shows the ice-creams
present at two different ice-cream parlors P and Q. The distribution of 6 different ice-creams

by weight is represented in table. The total quantity of ice-creams with P is 250 kg and that
with @ is 200 kg.

Ice-cream Parlor P (250 kg)

Chocolate
Vanilla

Strawberry

REZ =gl

Respberry

ol
%
Rt

p

Tutti Frutti

Butterscotch

@ Chocolate
M Vanilla

21%
N Strawberry
i
8 @ Respberry
21%* 1388 @ Tutti Frutti

101. What is the difference between the quantity of Vanilla in kg at parlor Q and that at

parlor P ?
(a) 13 (b) 10
() 8 d) 21
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103.

104.

105.

106.

107.

ST HEFTINT-[AIIMT I6 o Q © HA'SS P © a8 Y HIgo-o5-2
(a) HSIASY, TIBC (b) TSNS, ACEIT
(¢ TS, A @ Tde, gat-agat

IS IAESt w3 AT B fIBH €9 H39™ T Udsd P w3 Ugsd Q f*9 fdar
W39 J 2

(a) 22 (b) 28 (c) 23 d 35

Adg A BT I3 I6 W3 9% o3 HIIH I6 3 It i3 FEet fed fagz At
J?

(a) W HIIH S I

(b 79 I3 I g5

(c) AN S ygdiH I6

(d) IFHUHHII IS

A,B,C,D,E,F,GHW3 13 W Is| C,BT 3fadficd ygg kg J 1A, B©
2 fodficg €3a fcg Iw3 H AR 4 fa¥icg vdes feg I | G, H 3 2 fadiiea Uen
feg IS faD, G4 fadiicaysg feg I | FGR 4 fadficg €39fcgd | B
W3 CefReIIIAC T E, HW3 DB fegsgd J | E W3 G fegdt gt €A 2

(a) 5fIBHeg (b) 4 fI3iteg

(¢ 3fadieg d) 2fahieg

s ¥ 98 37 fe8 UNIVERSITY & YUJTSFWJOU f8femr Hier J | 87 93 I
feg STRAWBERRY fa< f&femir Aradr ?

(a) YSSFCXBSUS (b) YSSEBWASUS
(¢) YUSBXCFSSY (d) SUSWABESSY

wig 311311311311311311311 :

(a) 3 &S 3 7 Ao I U 11 &3 &It

(b) 11 & W 7 ASE I U 3 & &It

(c) 33 11T & U 7 A" J

(A I 3FTSWHI ST I 11 &S W 7 Ader I

June 2023 (A-54)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

102 —Whieh-are-the-tweol icecreams that are less in quantity with P thaathat-with-Q-2

103.

104.

105.

106.

107.

(a) Butterscotch, Chocolate (b) Vanilla, Strawberry
(c) Vanilla, Raspberry (d) Chocolate, Tutti frutti

What is the absolute difference in quantity in kg of Raspberry and Strawberry
together at parlor P and parlor Q ?

(a) 22 (b) 28 (c) 23 (d 35

If all cats are dogs and some dogs are rabbits, which of the following statements must

be true ?

(a) All rabbits are cats
(b) All dogs are cats
(¢) All cats are rabbits

(d) Some rabbits are dogs

A,B,C,D,E, F, G, Hand I are nine houses. C is 3 km East of B. A is 2 km North of B
and H is 4 km South of A. G is 2 km West of H while D is 4 km East of G. F is 4 km
North of G, I is situated just in the middle of B and C, while E is just in the middle of
H and D. Find the distance between E and G.

(a) 5 km (b) 4 km
(¢) 3km (d) 2km

In a certain code language UNIVERSITY is written as YUJTSFWJOU. How will
STRAWBERRY be written in that code language ?

(a) YSSFCXBSUS (b) YSSEBWASUS
() YUSBXCFSSY (d) SUSWABESSY

The number 311311311311311311311 is :
(a) Divisible by 3 but not by 11

(b) Divisible by 11 but not by 3

(c) Divisible by both 3 and 11

(d) Divisible neither by 3 nor by 11
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10815 WIFHF1947-§ I3 T faaz fes At 2

v

(a) Ha®eg (b) HU<g

v

(¢c) HIISI (d) < geg

109. 3T W3T TG IA AFA © faes B sggqar vt § fise I fam a8
AZ333 37 T Ufanit &5 35 U3 A figt T o &9 38 3 | a3 a9 < Afd
JgIe J¢ IH GRS U J 3 36 93 593 95 | 89 3T Sne' I, ‘It © ¥
UR, ffg A 2 I&H I | I&H T Aa UR, e 77 S I8H I | i @ 7a uA, i
Teficgs | ffcedg yAffa A S ffegs I 36 a9z faa3 76 ?

(a) foFte T g&™, e e I8 W3 fie & gt
(b) foc e g, foFte T g, fie < gt
(¢ T (a) W3 (b)

(d) GuIas T 3t &t

110. J538! B3 FT fagz Wehfe 7 d99 © 98 yA A< wEer J |
A, 26,B,25,C,24,D,23.....
(a) P (b) Q
© R @ S

111. 35 fJATT N, M W3 O i ¥H &1 a9 3 =mie Yu3 J&t aHd § <3< Ia1 86
S 1240 FUE & I T | N & M B IR T 3527 w3 M $ 0 © IR T 2/3 fImr
BT I INT G atd?

(a) 240 (b) 324
(c) 254 (d) 468

112. X W3 Y g8A W <9 gica S92 96 | X, YEMF I9 5 g 3 7 9 98T J UT 3
Tdmit &g fige s =g g8H wdt § Je ager I Al Y 99 gSesst odl '3 g98d

et § fde e I I AP Y, 75 9 ¥Y Aer I 3T X & g8d we § fd& @9 fJe

AT ?
(a) 60 (b) 70
(c) 96 (d) 120
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08— Whatwasthe da_y of the week on 15th August 1947 ?
(a) Tuesday (b) Wednesday
(c) Friday (d) Thursday

109. On your travels you meet an old man on the side of the road holding three cards from
a standard deck face down. Trying to make conversation you ask him what the three
cards are. He tells you, “To the left of the queen, are one or two jacks. To the right of
the jack, are one or two jacks. To the right of the club, are one or two diamonds. To the
left of the diamond, are one or two diamonds.” What are the three cards ?

(a) The jack of clubs, jack of diamonds, and queen of diamonds.
(b) Jack of diamonds, jack of clubs, queen of diamonds

(c) Both (a) and (b)

(d) None of the above

110. In the following series which element comes seventh to the left of number 7 ?
A, 26, B, 25, C, 24, D, 23,
(a) P () Q
(0 R d S

111. Three partners N, M and O distribute the earnings they got after doing a particular
assignment. They got an amount of T 1240. N gets 3/5t" of M’s share and M gets 2/3'd

of O’s share. What is N’s share ?
(a) 240 (b) 324
(e) 254 (d) 468

112. X and Y play shooting in the bulls eye. X plays 7 turns to Y’s every 5 turns, but hits
bulls eye only once in 3 turns whereas Y hits bulls eye every alternate turn. When Y

has missed 75 times, X has hit bulls eye for how many times ?
(a) 60 (b) 70
() 96 (d 120
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113. <0 3 <0 U niar <ot fddhi ged3t Afmef enldi oAz c0 3 <08 J 7
(a) 461 (b) 457

(c) 462 (d) 125

114. A S I3 '3 © AT 2T, %' R & 10% &9 '3 2fonr | A mfe B K9
48 129 T GIAS I | §A AFST '3 IT T WETHS B/ e St H ?

(a) 13% Wrcr (b) 27% W'cT

() 13% &S (d) 22% W

115. AIHS WS B 8 fefenrgsn fed, Adms sier 2 10 fefowrggh feg w3 Adre I
T 12 fefenrgdmit &g i witmius wi39-AI® dfer Haed fTg Ags o gHfdedl
36 B8 (35 Afent & S ger@e gider I | A § wifrd fol& 3Jfomit &7 serfmr
7 e J i d 8 A9 Heg ffa Adns © &7 I 2

(a) 3664 (b) 396
(¢) 4060 (d) 8120
116. 958 fg3a RO P &3 :

<
GO
OO

(a) 2 (b) 4
(¢) 6 (d 8
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H3—Hewmanynaatural numbers having at most five digits have alsumeftheir-digitsas-at
most six ?
(a) 461 (b) 457
() 462 (d) 125

114. I sold two scooters at same price, one of them at 10% profit. I incurred total loss of
12% in overall transaction. What was the approximate profit/loss incurred on the
other scooter ?

(a) 13% loss (b) 27% loss
(c) 13% profit (d) 22% loss

115. Out of 8 students in Section Alpha, 10 students in Section Beta and 12 students in
Section Gamma, a teacher wants to create a team of three to represent the school in
inter-school quiz competition. In how many ways the team can be formed such that all
the members of the team are not from the same section ?

(a) 3664 (b) 396
(c) 4060 (d) 8120

116. Find P in the following figure :

O

(a) 2 (b) 4
(c) 6 (d 8
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AT S5 [0 | 331 F HS I6TH AS | 33T €7 Had Al 52% FaIG 165 UH, 49%
Bf3aH g W3 38% i€ I Fg uA J8 | I 9% RISwaH Bt 357 [RIm IFg
UH I8 | FINB W3 BIFTH €5 17% UH I8 Fals W3 e RIme [T 16% YH J& W3
BETH W3 Hie [Rlme BT 15% YA J8] Yifmy s @8 [fewasin & 131300 & /

117. fHIe 3918 ff9 &S fefenrgst ur J¢ 2

118.

119.

120.

(a)
(b)
(c)
(d)

63
84
96

114

(a)
(b)
(c)
(d)

5
4:
8
7

6
5
27
4

fHge 3918 feu uH JT =8 fefenrgdmt © 3 fide Hie-fefimis e uH JT =8
fefenrgdhn T wiau3 ©F |

o fefowgst forfsas &9 37 UR U3 a3 AT’ J Adg Qo e I e @ e uA

gaTr J | for e fg uA W8 a8 fefenrgst & s frest et /2

(a)
(b)
(c)
(d)

(a)
(b)
(c)
(d)

30
90
64
82

9:

12:5
10:3
11:4
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Nos. 117 to 120) : In a school, results of 12t
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were declared. All were disappointed with the results. The summary of the results was 52%

passed in Geography, 49% passed in History and 38% passed in Biology. Only 9% students

passed in all the three. 17% passed in Geography and History and 16% passed in Geography

and Biology and 15% passed in History and Biology. Number of students who took the exam

is 300.

117. How many students passed in Geography only ?

(a)
(b)
(c)
(d)

63
84
96

114

118. Find the ratio of students passing in Geography only to the students passing in

Biology only.
(a) 5:6
(b) 4:5
(c) 8:7
d 7:4

119. A student is declared pass in the exam only if he/she clears at least two subjects.
What was the number of students who were declared passed in this exam ?

(a)
(b)
(c)
(d)

30
90
64
82

120. What is the ratio of students who passed in exactly one and exactly two subjects ?

(a) 9:4
(b) 12:5
(e¢) 10:3
d) 11:4
June 2023
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12. The translated version of the questions in Punjabi is provided only to facilitate. In case of any doubt, the English version of the
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